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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open
the question bookleat

1. Aseparate OMR Answer Sheetis supplied for writing
the answers. Writedown your application from no. &
12 digit roll number on it as per your Admission Card
and darken the appropriate circiles on the answer
sheets.

2. Check that set code {(A,B,C or D) is printed in
the booklet and indicate your set code by
blackening the appropriate circle in the OMR
answer sheet.

3. Do not write anything in thisBooklet except the 12
digit Roll No. however you can use the blank pages
provided for the rough work at the end of this booklet.

4. Start answering when you are told to do so. Do not
turn the pages before that.

5. Answer all the questions.Each question has four
probable answers of which one is correct. You have
to choose the correct one and blacken your choice
in the OMR answer sheet by a black/blue ball point
pen. Use of pencil is not allowed. if your choice is
second response then answer like this.

6. For wrong answer, there is no deduction of marks.

One mark shall be awarded for each correct
response.

7. No Mark will be awarded for a question if a
candidate darkensmore than one choice.

8. Return the Answer Sheet only to the invigilator as
soon as the final bell rings.

9. English version of the question paper will be
considered as final if any dispute arises out of
variation in translated version.
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Q (1-4) : Find out the alternative which will

g4 (1-4) : 606 A69T 9§ 72 IR e Qg ?
. replace the question (?) mark. : - ’ .
1. BCFG :HILM:: NORQf ? . BCFG:HILM::NORQ: ? |
| A TWU A TXWU
B. TXUW B. TXUw -
C. Tuxw | C. TUXW
D. TVWX D. TVWX
2. ZRYQ: KCJB:: PWOV: ?° 2. ZRYQ: KCJB:: PWOV: ?
A GBHA A GBHA:
B. 'ELDK | B. ELDK
C s C. 18T -
D. EOFP D. EOFP
3. KeaC A: Caek é‘:Xng: ? o 3.° KeaC: CaeK :: XgmF : ? |
‘A GmcF " - A- GmcF
B. FmgX B. FmgX
C. EgmX C. EgmX
D. EmgF D. EmgF |
4. Computer:fgprxvht:: Language: ? =~ 4 Computer ffdPMVhtii Language : ?
A oxpixdig A .ox‘pi;(dig' '
B ' ocqicyig " B. . ocqicyig
C. ocqixcjg | C. ocqixcjg'
D.  ocqixcig . D. ocqixcig
Q (5-8) : Fill in the blanks from thé alternatives de] (5-8) : AV B LGl @1 MAIRG @ Alee
- looking at both letter and number patterns. '951461916‘ e gosl @ | :
5. BCD, - ,BCD,BCD,BCD - 5 Bcp, . ; BCD,, B, CD BC,D
A BC,D ‘A "BC,D |
B. BCD B BCab
C. B,CpD C. BCD
D. BCD, D. BCD,
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6.  X5C,U8F___ ,O17L,1230 . . 6.  X5C,U8F,____,O17L,1230

A RIOK A RIOK
B P12l | N B..-P12l
C. R12I, | o c. Ri2
D. RI10I - ' ~ D. Ri0l
7. C1AF4E,H9l, __ M25U 7., C1AF4E, Hol, M25U
A J160 - . ' A J160 |
B. K160 - | B. K160
C. J16M . . C. JeM
D. Ki16Q ‘ D. K16Q
8. B6D, C121,D20P, - 8. - B6D,C12I,D20P,
A E30Y " ‘A - E30Y
B. E25Q | | B E25Q
c. E308 o 1 - c. E30S
D | D. -P20Z

P20Z

~

Q(9-11): Here are some wbrds translated from | ‘Qﬂ (9-11) : ﬁ’ﬂéQ @é a0 9@ Q@FI @Iﬂl%l?lé@l@

an artificial language. Answer the related o QIRIDIRR | TRY YO RGBT
" questions. ' ~ : _. S e
9, ‘aptaose’ means st base’ 9. | aptaose’ Q%8 first base’

‘eptaose’ Q2 ‘second base” --
‘Jartabuk’ Q29 ‘ballpark’
6Q¢! slaq 2 ‘baseball’ ? -

“‘eptaose’ means ‘second base’
‘lartabuk’ means 'ballpérk’

‘Which word could mean ‘baseball’ ?

A buklarta A.  buklarta
B oseepta | o B. oseepta .
"C. bukose S C.. bUque '
D. oselarta ' D. oselarta
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10. .

1.

‘krekinblaf means ‘workforce’

‘dritakrekin’ means ‘groundwork’

‘krekinalti’ means ‘workplace’

Which word could mean ‘someplace’ ?

A moropalti
B. krekindrita
C. altiblaf

D. dritaalti |

‘relftaga’ means ‘carefree’
care

‘otaga’ means ‘careful’

. 'fertaga’ means ‘careless’

Which word COUld‘ mean ‘aftercare’ ?
A zentagé |
B. tagafer
C. tagazeh
D

relffer

Q (12-15) : Select a figure from amongst the

Answer Figures which will continue the same «

series as established by.the five Problem
Figures. :

12.

Problem figures (€9 6)

1+[S1jaclnfLe

@ ® © O &

o0 = >
AW N

10.

1.

% (12-15) :

_‘krekinblaP Q2 ‘workforce’

‘dritakrekin’ Q 2¢ ‘groundwork’
‘krekinalti’ 9 2¢ ‘workplace’
60Q 6100 8¢ ‘someplace’ ?

A.  moropalti
B. krekindrita
C.. altiblaf
D

dritaalti

‘relftaga’ o 2¢] ‘carefree’
‘otaga’ Q2 ‘careful’
‘fertaga’ Qe ‘careless’

60 s0a 2 ‘aftercare’ ? .

A.  zentaga
B. tagafer
C. taga.‘zen
D

relffer
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oo ® »

o © @
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13.

14.

15.

16.

" * @

e

L]
* +*
* L3
-

*e e
ts»
“en
[ W 3

A
B. 2
c. 3
D. 4

Problem figures ( 120 £0)

@ ® © O ®

c o w >
2w N

Problem figures (gq =)

)H)}(E:}(jc )Q 'i:'_\;c

A ® © O €

A 1
B. 2
c. 3
'D_ .

-Choose the alternative which closely
resembles the water image of ‘FAMILY”.

A IYNILIA
B thm
C. !:VMHA
D.  LYWITA

SMS - 2015-16

Answer figures (@@Q-@@) _

o * » ry
«xqp K’l’i'”
‘ X X e} X .
% ‘ 2 rod
1 (2_)' 3 @ .
A 1
B 2
C. 3
D. 4

Answer ﬁéures (@e9 §e) _

BB € B

om @ 3 ‘@

o6 w >

2
-3
4

Answer figures (Q@Q @)

Fioi]c:j)l(ja

O @ 6 @

A. 1
B. 2.
c. 3
D.. 4

16.  ‘FAMILY' Q0R gP0R QS8 ?

A VLA
'B. EVINITA
C.  LvMNA
D. |

EVINITA



Q (17-18) Find the number of triangles in the
given figure from the altematives.

17..

18..

Q (19-20) : Find out from -amongst the four
alternatives as to how the pattern would appear
when the transparent sheet (X) is folded at the
dotted line.

-

o o w >

o ® >

D.

o0 w > B

BEE ST O A

32
36

28 -

40

27
25
23

220

g6 (17-18) GQI0Q6Q 606617 SR 2R PaT

32

40

36

28

27

25
23

RlG, @18 |
© 47,
A
B.
C.
D- .
18.
A
B.
C
D.

g} (19-20) : 9@ QIRNEQ ARG (X) PRLQ 0L 58

20

a
A0R 6QGIER QIS RER FAT FIRT FRIG 666 506

EON

herew

S

- -

Lp——"

6298

Lahad T

famaabuinkmn

B

o 0w P

AW N =

.
3
L4
»

LYY T P
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Ol L8 e L8 (| 1®
®, 0 o ® @
A1 | A
5 5 B 2
c 3 C. 3
. D 4-' The h

Q (21-23) Find out which of the figures (1), (2), €4 (21-23) : (X) 6 2101 818 56 GFR6AR (1), (2),
(3).and (4) can be formed from the pieces given ~ (3) 8 (4) 9G% FIRG FRMQ 6GAT GUR AR

in figure (X). . e Pge aall

" v @ e @
A1 A1
B 2 B. 2
c 3 c. 3
D 4 . D. 4

2. | AN 7
) (11'_ @ - O @
A. 1 : A: 1.
B 2 B. 2
.- 3 G 3
D. 4 D, |
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23.

s U N
)

'_\

M

A 1
B. 2
C. .3
D. 4

(2)

7 Q (24-26) : Select asuitable figure from the
Answer Figures that would replace the question

© (?) mark.

24.

25.

Problem figures (9§ 66)

(A
A.
B. 2
C. | 3
D. 4

Problem ﬂgures (gq 90)

Ll

).

o w >

D.

(4)

1

2

3 -

4

gl (24-26) 9§ 5@ @ 601 291 g8 02 YR T eaQ

006Q 9ol 600 FRFT gqaq ?

Answer figures (Q@@Q §6)-

1

Answer figures (@0 §¢)

4 @ & @

1
2

3

4
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26.

2z.

28.

29,

Problem figures (94) oe)

< (D)
A1
B. 2
c. 3
D. 4

X +ymeans x is the daughter of y;

means x
X xY means x is the sister of y Which
of the following means 7 is the niece of 7 ?
A J—=N%CxTI
B. IxC—-N%J

G J+MxC%I

D. IxC+N-J

A$B means A is the father of B; A # B
means A is the sister of B A* B means A
is the daughter of B andA@ B meansAis
the brother of B. Which of the following
indicates that M is the wife of Q7?

A Q$R#T@M
B. Q$R@T#M
C.” Q$R*'T#M

D. Q$R@T*M
B5D means B is the father of D. BOD

27,
. X -Y means Xisthebrotherof y; X%y

is the father of yand

28.

means B is the sister of D. B4D means B -

is the brother of-D. B3D means B is the
wife of D. Which of the following means F
is the mother of K7

A F3M5K

B F5M3K

C. FOM4N3K
D

F3M5N3K

SMS -2015-16
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Answer figures (Q@Q G’G

'-O-

29.

wxle—-l‘q
@)
A 1
B. 2
c 3
‘D 4

X+y @8 x, y @ y -y a2l
X,y Q8 x%y a8 x,y Qe
@ yxy 92 x, y @ aad | r ae
CRINQ) 6RE0R 2] I J Qa6 ?

A- J- N%CxI
B. . IxC-N%J

. C J+MxC%I

D. - -I><C+N—j
A$SBQIA BRRalA#B QA B @

9@sNIA*BQIA, BQRUIA@B QY

A, B @ 9ig A7 a9 FrMg saeva 2d M, Q
Qe ?

A QSRE#T@M

B. QS$R@T#M

G QSR*T#M-

D. QS$SR@T*M

B5DQe€IB, D@@dll B9D @B, D @
QG811 B4D @ 28 B, D Q Qi) 8 B3D @ &¢
B, DQ QI A 9a% ﬂuqqsaa‘@mei FKQ

ey
A F3MsK
B. FSM3K
G FOM4AN3K
D. F3M5N3K



Q (30-32) : P-T V,R, M, D, Kand' W are sitting
around a circular table facmg the Centre. V is
second to the left of T. Tis fourth to the right of M.

D and P are not immediate neighbours of T. D is .

third to the right of P. W is not an immediate
neighbour of P. P is to the immediate left of K.

30.

31. -

32.

Q. (33-35) : Choose the terms out of the given
alternatives to fill th&(guesﬂens (?) marks.
' .

33.

~ Who is second to the left of K?

A

B
C.
D

A

B.

G-

' D.

Who is sitting second to the right of the
- one who is sitting on the immediate right

P

R
M
W

Whét is R's position with respect to V?

Third to the right

Fifth to th_e right

Third to the left

Second to the left

of W?

A u
B. R
C. oV
D. P

-

p 23

k4

Z,S,WOTKQG?,?

A

B
C.
D

N, C
N, D
O,C

0,0

13

941 (30-32) : P, T, V, R, M, D, K-8 W 4@ 66IRIQIR

6SQRR QINTEE 60QM FRQ A @R @B | V, TR

QIF T6S' G619 YREA QTR | T, M Q @IRiS1 966 ¥l
D3 P, TQ0Ra6aed AILIE 1D,
P QG216 U6¢ 0616 YRER 028 |W, P | aAER
QPR | P, K 6 OR QiF 060 @28 |

AR6R 0B |

30. Kaam a6 Q616 QR6R 57 GBE" ?

A

B
C.
D

3

R
M
W

- 31, VR gR BRaee R QYR 6RO ?

11

A
B
C.
D

PRSI aea
Q191616 98l
Qg eeTR

© QlFg e

W @ 0Q. 21§l 96%' 641 @8 ¢1'Q 181 96

Qe ‘QIG‘GQ @R ?

>

9 e

u

R
Vv
P

120 (33 35) : @@ QT FRMG ?_3]6;] 9@ ('?) Q ‘2119 213

@o! |

33. Z,S,W,0,TK, Q,'G,?,?

A

B
C.
D. OD

N, C

'‘N,D

0, C
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- 34. . ajs, gpy, 7, sbk,yhq

A - dmv
B. mve .
C. oua
D. qzir

3. Z,XS,LRR ?;?

A
B. JK
C. KM
D. G!

Q (36-38) : Study the following figure and
answer the questions given below.

36. By which letter, the married teachers

who live in joint family are represented?

il c el

A R
B. Q
C. s
D. P

37. By which letter, the married people who
' live in-joint family but not are school
teachers are represented?

A R
B. U
c. s
D. P

SMS - 2015-16

34, ajs, gpy, ?, sbk, yhg

A, dmv
B. mve
.C. oua
D. 'qzi

35. Z X%:S,LRR?,?

AUl
B. J,K
C: KM
D G
96 (36-38) . 3¢ $0Q BRNRGA 67 AFE gY

Joea aan 62 | .

[_]— Mariied people (@QlEe 6RIG)

O — Peopie who ive in joint family
(68l CRRINER Q2R SRIR)
= Teachers [ §187)

-~

~ 36. 6diél IRRINER QLRI FRIRE HReIeH

T 6R6 289 QIR @@6‘ 69088 ?

A R
B. Q
C. S
D. P

37, 6501 SRRINGER QLRI FRRE 6RIR 6IGAIER

. 996 6B, 64! A8 Q6 56 62085 ?
N .

B
C.
D

- 0w C X

12



38, By which letter people who live in joint
family but neither married nor teachers are
: represented ?

AT
B. R
c. a
D. S

Q (39-42) : All the faces of a cube are painted
with red colour. The cube is cut mto 64 equal small
cubes.

39. How many small‘cubes have only one face

coloured?
A . 4
‘B. 8
C. 16.
D. 24
. 40. How many small cubee have no faces

coloured? .
A 24
B. 8
c. 16
D. Q0

41.  How many small cubes are there whose

*only three faces are coloured?
A 4

B. 16
C. .8
D. 24 |

42, How many srﬁall cubes are there whose
two adjacent faces are coloured?
A O |
B 8
C. . 16
(D) 24

13

38.

A

63121 INQINER QQAIR! 6RIR 6LEFISR PR .
A8 @ 919R L6, 6ad TR QI 586
6085 ?

B.
C.
B -

0w 0 3

96 (3942) : 46 TPa P AR AR o
GRIDIRE | TRP] IR 64 0 UR CRER 0e®
QQIeRI | |

39.

40. -

a1.

42.

6Q60IE AR TAQ 6RPR.66ITY ﬂlﬁ]@&) WP
R ?

A 4
B." 8
AT
D 24

6R6615 AR TRA 66ISIA U6 QP AITRIE ?

A - 24
'B. 8
c. 16

D. 0

6@6@1@ de dea 6aen of GIQGQ G)GI’
RIGE ?

A 4
' B. 16
C. 8

'D. 24

ER6CR AR G]FPQ 6QeR QRG AsIgR gigea
QAT MR £

A 0

B. 8
C. 16
D. 24
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A3.

44,

a5,

SMS - 2015:16

Below four positions of a Die are shown.
‘Which alphabets will be opposite to *KL'?

A AB
B, CD
C. EF
D. GH

" |f CONCEPT is written as ‘unmulqr’ aind

FRIEND is written as “ysgimt’, then how
is PREDICT written in that code?.

A'_. usygmnl’ h
B. slmgtur
[+ gsitgur
D. qgmnltr

A B,C, ‘D. E-and F are six sides of a cube.
Two positions of the cube are shown

. below. When the surface ‘D’ is in the

bottom what surface W|II be on top?

#

A . A

c o £ r

D > O

c o = »

43,

44,

45,

14 -

o o0 w >
0
o

‘v.o ® >

Gﬁasa @ PIRA PI6RIT 2OYR . odlralaé |

KL a F2ee 6% saef am QRR ? -

EF
GH .',

9@ CONCEPT § ‘unmulqr’ @ FRIEND
Q ‘ysgimt’ 691 6ASILIG, 6669 PREDICT

. Q6a05 6RNIAe ?

A usygmnl
B élmgtur )
& qsIthr
D. qgmnltr

A,B,C,D,EGF 4@ @AQ 9 & aig | Fgea
QIR grt BRge QEICIGE | 'D’ I &6R a@t
6@ aafaelem aw,j oRe ?

nwm » O



Q (46-50) : Which alternatlve wull replace the
questlon (?) mark. ' ;

46. ¢ ° 3 6
| 90
4| 24 7|18
| 40
10 §
A 06
B. 150
e 400 ‘
'D.  Noneofthese

48. 7 E@{ ' I::?:i
' ' : 7
< 2 9 6’ : 9 , 5

A 115
B. 130
C. 135
D. 140

04 (46-50) : 666! RFS ég; e OIel QeeS ?

46.

v 4.7“

15

o o0 m »

40

90

? 15

10

96
150
400

6@IEG Qed

o0 w >

115

130
135
140
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10 16 15 -+ 10 16 15
12@1517—@281‘—@—23 124<4>71512—®—281u®—'23
49, . - 49, .
.9 2. .16 - 9 2. 6

A1 A 11
B. 14 B: 14
c. 10 c.. 10
D. 12 D 12
. 50 50.
A 35 A3
B. 20 B. 29
C. 39 c. 39 |
D. 37 D. 37
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